An introduction to Economics
1. Which of the following is a positive statement? 

a. The exchange rate is affected by the level of interest rates

b. The British fishing industry should be given a subsidy to cover their financial losses due to the loss of fish stocks in the North Sea

c. Fire fighters deserve higher pay than nurses

d. The government should increase the rate of excise duty on cigarettes

(1 mark)

2. Choice is important in the basic economic problem because

a. Wants increase with income

b. Scarce economic resources are distributed equally

c. Limited economic resources have many alternative uses

d. High demand leads to higher market prices 

(1 mark)

3. The existence of scarcity implies that

a. There are no free goods

b. Only rich households can save

c. Suppliers of factors of production cannot be increased

d. Households, firms and governments must make choices

(1 mark)

 Define the term “opportunity cost” (2 marks)
……………………………………………………………………………………………………………………………………………....
……………………………………………………………………………………………………………………………………………....
4. Identify the 4 factors of production (4 marks) 
5. Give an example of a factor of production associated to car manufacturing (1 mark)
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6. The local council have to decide between GP services and Dental treatment, explain whether they would choose point Y, B or X and explain your decision. (6 marks)

7. Explain the opportunity cost of moving from point B to point A in the diagram above (4 marks)
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